
INSTALLATION INSTRUCTIONS:
Note: Make sure all of the hardware needed to                      
complete this mount is in the package. Read through 
and understand the instructions before installing.

1.	 Remove the rear most part of the bottom skid plate.

2.	 Remove the OEM bolt (A) shown in Figure 2.

3.	 Hold Rear Receiver in place and secure the bottom 
of receiver using the OEM bolt removed in step two, 
5/16 Bolts (2.2), and 5/16 Nuts (2.3) as shown in 
Figure 3. Note: Do not tighten at this time.

4.	 Secure the top of the mount using U-Bolts (2.1) and 
Nuts (2.3) by placing U-Bolt over the frame tube 
of the machine and into the rear receiver as shown 
in Figure 3. Note: U-Bolts (2.1) may need to be 
stretched wider to fit over the frame tube of the    
machine.

5.	 Tighten all hardware evenly and reinstall bottom 
skid plate removed in step 1.

Figure 1

Yamaha YXZ Rear Receiver

©2019  Copyright Kappers Fabricating, Inc.   All rights reserved

Item # Qty. Description
1 1 Receiver Mount 

2 1 Hardware Kit HK-145

2.1 2 5/16”-18 x 1.25 x 2.00 U-Bolt 1.00 Thread

2.2 2 5/16”-18 x 1.00 Hex Flange Bolt  GR5

2.3 6 5/16”-18 Hex Flange Nylock Nut GR5

2.4 2 M8-1 .25 x 30 Hex Flange Bolt GR8.8 
(NOT USED)

Kit Components:
Rear Receiver	 Part # 101685

Figure 3

1

2.1

2.3

2.2

2.3

Figure 2

2.2
2.3

A

2.1
2.3

A


